Name Date Class

Problem Solving

‘2.8 Adding Integers

In 1997, Tiger Woods became the youngest golfer ever to win
the Masters Tournament. There are four rounds of 18 holes in
the Masters Tournament. Use Woods’s scorecard to answer
questions 1—6.

Tiger Woods
Hole | 1| 2| 3| 4|5, 6|7)|8|9|10|11(12|13|14(15|16| 17| 18
Rd.1/1,0|O0O|1(O|]O]O|1T|1|-10|-1]-10|=-2]0|-1|0
Rd.2, 0|-1/1]0(f(-1/ 0] O|-1/ 0| O] O0|O0|—-2/—-1|—-1] 0] 0| O
Rd.3| 0|-1/0|O|—-1| O|—=1/—-1] 0| O0O|—=1/ O0O|O0O|O0O|—-1] 0] O0]|-—1
Rd.4 |, 0|(-1/0|O0O|1]|O|1|-1 O0|O0O|—-1]/O|—-1/—-1] 0| 0| 0] O
1. What was Woods’s total score for 2. What was his total score for the

round 1 of the tournament?

. What was his total score for the third
round of the tournament?

. Woods’s final score in 1997 was the
lowest in the history of the Masters
Tournament. What was Woods’s
record-breaking final score?

Circle the letter of the correct answer.

7. Which of the following is the sum of

Woods’s scores on the 8th hole?
A2

B 1
C -1
D -2
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second round of the tournament?

. What was his total score for the

fourth round of the tournament?

. Tom Kite placed second in the 1997

Masters Tournament. His final score
was 12 strokes higher than Tiger
Woods’s final score. What was Kite’s
final score?

. Which of the following is the sum of

Woods’s scores on the 15th hole?
F 4

G -4

HO

J 1
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